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QUESTION 1

What is one of the benefits of using a federated repository over a user registry?

A. Does not support identity profiles

B. Supports only one registry in a realm

C. Supports multiple registries within a realm

D. Provides account and password policy support

Correct Answer: C

Federated repositories enable you to use multiple repositories with WebSphere?Application Server. These repositories,
which can be file-based repositories, LDAP repositories, or a sub-tree of an LDAP repository, are defined and
theoretically combined under a single realm. All of the user repositories that are configured under the federated

repository functionality are invisible to WebSphere Application Server.

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/com.ibm.websphere.nd.doc/
ae/cwim_fedrepos.html

QUESTION 2

When configuring IBM WebSphere Application Server to use LDAP, which of the following is used to connect to the
LDAP server?

A. Bind distinguished name

B. Base distinguished Name

C. Operating System user name

D. Primary administrative user name
Correct Answer: B

Reference: https://www.ibm.com/support/knowledgecenter/en/SSJJ9R_6.0.2/com.ibm.jazz.install.doc/
topics/t_instl_config_ldap_on_was.html

QUESTION 3

Which of the following can be queried to get PMI data?
A. Server Cell

B. JMX Connectors

C. MBean ObjectNames

D. Application ServerNames
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Correct Answer: C

PMI data can be gathered from the J2EE managed object MBeans or the WebSphere Application Server PMI Perf
MBean.

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/com.ibm.websphere.nd.doc/
ae/cprf_pmi_datacol.html

QUESTION 4

Where are cacheable objects defined?
A. Via the cache monitor

B. Via the cache viewer portlet

C. Via the cachespec.xml file

D. Via the Integrated Solutions Console
Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/
com.ibm.websphere.nd.multiplatform.doc/ae/tdyn_dynamiccacheconfig.html

QUESTION 5

An administrator notices performance degradation after a new deployment of an application. After investigation,
increased CPU usage is observed due to frequent GC cycles. However, there is no significant growth in the heap
memory.

How can the resource consumption issue be resolved?

A. Increase max heap.

B. Increase perm space.

C. Increase nursery size.

D. Change the GC policy.

Correct Answer: D
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